

*Mathematik ist das Alphabet, mit dessen Hilfe Gott das Universum beschrieben hat  
 Galileo Galilei*

### Aufgabe 1

$$a) \exp(A)^\dagger = \left( \sum_{n=0}^{\infty} \frac{(A^n)}{n!} \right)^\dagger = \sum_{n=0}^{\infty} \frac{(A^n)^\dagger}{n!} = \exp(A^\dagger)$$

$$b) B \exp(A) B^{-1} = B \left( \sum_{n=0}^{\infty} \frac{(A^n)}{n!} \right) B^{-1} = \sum_{n=0}^{\infty} \frac{(B A^n B^{-1})}{n!} =$$

$$= \sum_{n=0}^{\infty} \frac{(B A B^{-1})^n}{n!} = \exp(B A B^{-1})$$

$[B B^{-1} = 1]$   
 $[B A^n B^{-1} = B A A \dots A B^{-1} = B A^1 A^1 A^1 B^{-1} =$   
 $= B A B^{-1} B A B^{-1} B A \dots B^{-1} = (B A B^{-1})^n]$

$$c) \frac{d}{d\lambda} \exp(\lambda A) = \frac{d}{d\lambda} \sum_{n=0}^{\infty} \frac{(\lambda A)^n}{n!} = \frac{d}{d\lambda} \sum_{n=0}^{\infty} \frac{\lambda^n A^n}{n!} = \frac{d}{d\lambda} \left( 1 + \sum_{n=1}^{\infty} \frac{\lambda^n A^n}{n!} \right)$$

$$= \sum_{n=1}^{\infty} \frac{n \lambda^{n-1} A^n}{n!} = \sum_{n=1}^{\infty} \frac{\lambda^{n-1} A^n}{(n-1)!} = A \left( \sum_{n=1}^{\infty} \frac{\lambda^{n-1} A^{n-1}}{(n-1)!} \right) \stackrel{n'=n-1}{=} \sum_{n'=0}^{\infty} \frac{(\lambda A)^{n'}}{n'!} \stackrel{n'=n}{=} \exp(\lambda A) A$$

### Aufgabe 2

$$a) \exp(D) = \sum_{n=0}^{\infty} \frac{D^n}{n!} = 1 + D + \frac{1}{2} D^2 + \frac{1}{3!} D^3 + \dots =$$

$$= 1 + \text{diag}(d_1; d_2; \dots) + \frac{1}{2} \text{diag}(d_1^2; d_2^2; \dots) + \dots =$$

$$= \text{diag}\left(1 + d_1 + \frac{1}{2} d_1^2 + \dots; 1 + d_2 + \frac{1}{2} d_2^2 + \dots; \dots\right) =$$

$$= \text{diag}\left(\sum_{n=0}^{\infty} \frac{d_1^n}{n!}; \sum_{n=0}^{\infty} \frac{d_2^n}{n!}; \dots\right) =$$

$$= \text{diag}(\exp(d_1); \exp(d_2); \dots)$$

$$b) [\det(AB) = \det A \cdot \det B]$$

$$[\text{Tr}(ABC) = \text{Tr}(CAB) = \text{Tr}(BCA)]$$

$$\det(\exp(A)) = \det(\exp(XDX^{-1})) \stackrel{A1}{=} \det(X \exp(D) X^{-1}) =$$

$$= \det X \det(\exp(D)) \det(X^{-1}) = \det(XX^{-1}) \det(\exp(D)) =$$

$$\stackrel{A2a)}{=} \det(\text{diag}(\exp(d_1); \exp(d_2); \dots)) =$$

$$= \prod_i \exp(D_{ii}) = \exp\left(\sum_i D_{ii}\right) = \exp(\text{Tr}(D)) = \exp(\text{Tr}(X^{-1}AX)) =$$

$$= \exp(\text{Tr}(XX^{-1}A)) = \exp(\text{Tr}(A))$$